/* konwersja z systemu dwójkowego do dziesiętnego */

/* przykład 3                                     */ 

/* ja tak nie lubie...                            */

/* polecam regułę KIS’S - keep it simple          */

#include<stdio.h>

const int n = 5;

int wartosc(int []);

int main()

{ 

  int w[n] = {1,0,0,1,1};

  printf("%d",wartosc(w));

  return 0;

}

int wartosc(int w[])

{

 int suma = 0, i; 

 for(i = 0; i < n; suma = suma*2 + w[i++]);

 return suma;   

}

/* albo...

int wartosc(int w[])

{ 

 for(int i=0, int suma=0; i<n; suma=suma*2+w[i], i++);

 return suma;   

}

*/

